Calculating with Surds I

(\

= REVISE THIS
1S T

1 Express+/12 in its simplest form.

J1Z ={u x =

2 Express /50 in its simplest form.

{50 = [25 x12

3 Express V500 in its simplest form.

,‘E(;—O:\‘_IEE)X\IE

4 Express+/27 in its simplest form.
\Y’)_.-'-} =¥q x I3

5 Express V98 in its simplest form.
{98 = (I x {2

6 Express 48 in its simplest form.

B

1
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23

(Total for Question 1 is 1 mark)

ST

(Total for Question 2 is 1 mark)

\O{S

(Total for Question 3 is 1 mark)

2432

(Total for Question 4 is 1 mark)

T

(Total for Question 5 is 1 mark)

b3

(Total for Question 6 is 1 mark)
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7 Express 5v8 in its simplest form.

S x i x{Z
= lex\ﬁ: \Ori

(Total for Question 7 is 1 mark)
8 Express4v/18 in its simplest form.

Ux {9 x¥Z
= 4x Bx {2 |24z

(Total for Question 8 is 1 mark)

9 Express 24/200 in its simplest form.

2x 00 x V2
- 2x 10 x 2 20\]"):

(Total for Question 9 is 1 mark)
10 Express 9v20 in its simplest form.

Ax (& xS
-9 x Lx\s \%\E

(Total for Question 10 is 1 mark)

11 Express 74/640 in its simplest form.

T x (et x {io
=3 x $x{lo SQJTE)

(Total for Question 11 is 1 mark)

12 Express 5v80 in its simplest form.

Sxmxlrg
= SK(PKE QOE

(Total for Question 12 is 1 mark)
13 Express 3v/72 in its simplest form.

Ax RexZ
= 3&6 )C\ﬁ-

V802

(Total for Question 13 is 1 mark)
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14 Work out /6 x v/3 giving your answer in its simplest form.

(R = {4 x 2
= 3){@

U

(Total for Question 14 is 2 marks)

15 Work out /10 x /6 giving your answer in its simplest form.

(o = ¢ x is
= L x \Is

2{\s

(Total for Question 15 is 2 marks)

16 Work out 2+v/5 x 5v/8 giving your answer in its simplest form.

|0 Jwo 10 x (% x ([0
= |10« me

2010

(Total for Question 16 is 2 marks)

17 Work out 4+/2 x 24/12 giving your answer in its simplest form.

RIw= Ex{ix o
= YxLxi6

b6

(Total for Question 17 is 2 marks)
18 Work out 2v/20 x 3v/5 giving your answer as an integer.

6{wo = bx (O

6O

(Total for Question 18 is 2 marks)
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19 Work out (v6)” giving your answer as an integer.

{6 x (¢

- {36
(Total for Question 19 is 2 marks)
20 Work out (\/3)4 giving your answer as an integer.

J_g-?* J'S—x\\'gx\@
= S X, S

1S

(Total for Question 20 is 2 marks)
21 Work out (2\/3)3 giving your answer in its simplest form.

203 x 203 x 23

i

g
WA x\3

T x 2x$3

=

243

(Total for Question 21 is 2 marks)
2 . .
22 Workout (V2 x /3 x+/5)" giving your answer as an integer.

(@Y = o« @

S0

(Total for Question 22 is 2 marks)
23 Express (V3) inthe formav3 , where a is an integer.

\Gx\ﬁ K\F_&Kﬁ?&\r&xﬁxl@

' 2 X 3)&\(‘3’

2

(Total for Question 23 is 2 marks)
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24 Work out V60 ++/3 giving your answer in its simplest form.
\FLT) = 44 .8 \]S
= 2.x s

(Total for Question 24 is 2 marks)
25Work out 8v/30 = 4v/6 giving your answer in its simplest form.
(Total for Question 25 is 1 mark)
18v150
26 Simplify full
plify fully N

2 {So =

2x (2s x\Z

= 2 x S x02
012
(Total for Question 26 is 2 marks)
o 4040
27 Simplify fully ——
impltty fully 5V10

i = ¥ x2

\ o
28 Simplify fully (ﬁ)z

(Total for Question 27 is 2 marks)
V5

2

=

S

(Total for Question 28 is 2 marks)
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29 Simplify V11 ++/11++/11

200

(Total for Question 29 is 1 mark)

30 Simplify 33 +6+/3

S

(Total for Question 30 is 1 mark)

31 Simplify 9v7 +3V7 -7

W

(Total for Question 31 is 1 mark)

32 Work out (V2 +6v2— 2\/5)2 giving your answer as an integer.

(5(2'_)7': S{7 x S{2
I
o O

(Total for Question 32 is 2 marks)

33 Simplify 4v3 +6v2 - V3 + 82

22+
el W2+ WL

(Total for Question 33 is 2 marks)
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34 Express V18 ++/2 inthe formav2 , where a is an integer.

(o x {1 + 1

= a7 + {2
4 )

(Total for Question 34 is 2 marks)
35 Express 2v/3 ++/75 inthe formay3 , where a is an integer.

W2+ {28 = (3

= 23 + S@
i 23

(Total for Question 35 is 2 marks)
36 Express V32 ++/8 inthe formav2 , where a is an integer.

mxﬁ+ﬁ><\ﬁ

= W o+ 22
62

(Total for Question 36 is 3 marks)

37 Express 3v500 — 20 in the form av/5 , where a is an integer.

ZKJ-\O—OX\E - ¥ xS
3olS - 245

\l

2%JS

(Total for Question 37 is 3 marks)
38 Express v28 + /175 —3+/7 inthe formay7 , where a is an integer.

(Wx {7 + JExF - 37
= 2F + S - 23377
' b It

(Total for Question 38 is 3 marks)
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39 Ross is doing a surds question.
Ross writes:

V300 + /12 = /312

1300 + (12
=V x 78

= \\-LTQ;X\ITS -\—\(\; Kd—g
=2xV78 = 1003 + 3
=2V/78 _ \lﬁ

Explain the mistake that Ross has made

ow cannet ad d, \EEO and (\i a.s. Yhey

do wols \nave One same number inside e JVOUb.
RoGe Showld siw\\?h({{\j e fiesk..

40 Work out V30 x 5v6

(Total for Question 39 is 1 mark)
giving your answer as an integer.
V125 -+/20

S {1g0
{15x{s - (4x (S

S x {26 x {S
S{s - 21§

1\

b < 6x\Vg
s

- 30\)7§
B3

| O

(Total for Question 40 is 4 marks)
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